Efficiency vs P,

- 0.2
2 : : :
2018 oo S
> N H H
2 0.06F oo g e e
20.14
[}

0.12
T R — IR —
0.08F-+--eesiveeseraneeas Feeeeeeeeen e
0.0Bf -+ zeeieeeseeeeens Beoeeeees e
0.04f---eeemvieerieenens Feeeeeeeeen e

.................................................

T R —
o —arriad | |
ERNS N T

Ratio
L
B
i
——
e

107 1 10 prT (Ge\})o3

—=— DQM_CKF_TTbase
—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWPM_epoch2

= 0.2
2
20.18
2
§0.16
o
£0.14
(]
0.12
0.1
0.08F
0.06
0.04
0.02f-
J_.\‘C 1111

Ratio

0.950

Efficiency vs ¢

o 0.1-
@ :
2 0.09F
2 :
5 0.08
o .
£0.07E-
o :
0.06F--
0.058:
0.04F
0.03E
0.02F
0.01E

................................................

................................................

................................................

1.0

LIIIIIIll_lIIII‘IIIII_IIIIIH—L‘IIIII‘IIII‘IIII TTTT
+
T
[ ——
+ ——
"+: :
=
=
AR
e
T
:

Ratio

0.95L1



	Contents
	Page 1


